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Recíprocas : Complementarios
Sena

.

a = I Sent -_ COSQ

cosa
. seca =ptg-ctgo-xtotgx.ctg.sn=p

"

Sec - asco -90

48

senltx +251 los 56
=
(3)2-2

Si : coslxts ) sen 34 Y
2×1-27×+5=90

311--60
11--20

[ cosltxtlol - sen 2×+2] {

Casto - s# 21.3-a HE =

49 Halla /✗ +Ytzlisi : ✗ ¡ Yjz son agudos

SCMCX +601=(0514-37)

tgl451-xl-cotlz-37-lsecczt301-csc.ly-15 )

✗ 1-601-4-37=90 451-111-2--37=90 2-+1-304-15=90

✗+4=67 ✗ 1-2=82 2-+4=715

✗ 1-4=67
✗ + 2- = 82

2- +4=75

2×+24+22=224

=⑤



⑤ Si se cumple senllatb) = costa +2b)

calcula : D= sen⑦ +
sen⑤COS 3D COS 39

Latbt 9+25=90 A- 1+1

3A 1- 35=90 = 2

.⑤ Si : sen2x = COSSX
,
calcula :

F- = tan 3x.tan4xtsenx.se Gx



52Gt sii

• sen (3×-20 ) - Cos (6×+201=0 Calcula :

• tg (Zyl . ctg 1801-1=0 ✗ +y

↳⑤
Sen (3×-201 = Cos (6×1-20) tally) . ctg/801=1

3×-20+6×+20=90
24--80

9×-90

4=400x?⃝

530 calcula

G- sen20 . sea70 1- ZCOSIO . CSC 80+31-940 . tgso

¥# 1-2¥# 1- 3€50 . tgs
1 t Z t 3

⑥



540 Si :

sen C 2x ty ) csc (241-30)=1

tan [✗ +301 = cotly +301

CALCULA i 3 ✗ - Zy .

2×+4=24+30 ✗ 1- 60 +y ⇒o

✗ 1- y =
30

Zx = y 1- 30

y =3O
-

×

Zx =30 -✗ t 30
3✗ = 60

x=⑤
21201 +y = Zy 1- 30

3 × - 24 40-30=2y -y
31201-410)

10=4060-20

①


